a

H R

1.

4

/‘I%

Pl

Ca
£ e

sT?

B C ta4n 3 A2 A

FHAREEEBRRA

% BB REES)

mﬂﬂﬁﬁﬁfﬁ% ﬁﬁﬁﬁﬁﬁkﬁéﬁ%ﬁﬁiﬁ
33 ook A

LAE & |
N Rl T
35 P8 38 LA R B VR 2R B
A B3 BA

ERXHMBE TR
Bl % 30 RAE4EA O3 9 A -

+ aia 444

&

o

73
EEFIE
I.
2.

M AMEARNOH L LM mABAABAKRE R
A B BYIE T °

BlExEgRi & 350 o4k - FE

0 K4S R AE Fo o
REPLENHRE > F—EREFTBRAND -
3. THHRMBMAPTEGIEyHE

4, HH%

%@ﬁﬁi

5 RHESE LB iy

vy E R IR b - A R 1 Y
=k L %ﬂ)@ a;{g‘? rs

L EFEHE -
ML EF LU RGGEE - B - BE A% EH
5. A THEFSBLEEFTRHAL  FRUAARFH -

G 3B 2B A £
FW o WA EREE EN RS UEE
R R AR  EMEERAE bR B A B HE

AN = IR NN - X(OR()
UUF Bt g & 0 9 he R

WG A kT AR P
B € © 0 —kHEAE b

o — kI
)0 KR
C® T @

R gk

P 6 1 4
Pit B SRR Ay vo 8 — 0y E 4R AR

R

* @@ 1 — 5] 15 F {8 R
I B|es (48) BELKAMANES




1.

bt B EFWABCD S £ 4 12 0% > SAABtY P EE BB > AB A ¥4& » £ —@ 3

CRBR @A S DT H A7 A D
(A) b F7 (B) 127 F7 2%
() 187 FF ik D) U7 FHap - E
B C

2.

oA~ B~ CHZBRIATLRBEGET W L3> F A LT 50 83k > B £
Pt 128 C LT om 163 A FERIFA LR —3 - LHRIFB Ly
Hob—3h~ ABRIFC LM E P —3 - B F ~ &~ AERF LM EAELL BT
(A)6:4:3 (B)4:9:16 (C)4:3:2 (D)2:3:4

2020 2021 2021 2021

X ’ { 23 % 9
o A 2021 2020 2022 2020 Mr#iss s

2021

(A) 0 (B) 1 (C) 5050 (D) &2

4.
Wt B EEIEFEER — B ABCD » P BCgty i 2B E/mE » 4~ BhZ

M xsht o AHG2x—y+1=08AD « BCHRZHP ~ Y ¢ 5

B - 2x-y+1=0
AD =20 » RI#AT ABOP 2467 POCD t4 & #% b 2 77 9 , XY

$ d | b
(A 1:1 (B) 911 (€) 9:10 (D) 7:11 Q/

P




-
J.

By BA IR () 1Y) 21220 0 R+t 2 fl By 0
(M4 B-3 ©4x-3 D) &#

[@p]

MEAL A —AE T mdiars ) AR Rl T AR T4 XA F A E
) 7 ]

Loy adig :a:ma@zs%%—g , a%u/ﬁﬁkm&%ﬁi%-?g v A B R R B AR R 6 Bk A R

ﬁ] 27 7l ‘?

-5
M7 ® ©F  »-

1.
Hm+n<0 o mxn>0 - Bx=10" > y=10" » R F 9|4k ik 77 & £ #E ?
(A)x<0 » y<0 (B)x+y>1 (C)xy<0 (D)I=xy>0

8.
240 9x37037=333333 > #+ F 333333x39—51x37037 2 1& A4 ?
(A) 1111110 (B) 11111100 (C) 9999990 (D) 99999900 -



9.

BTRAER > EEEATREREIREFH - B 5398 3600 T Crold— fak
20% > 5 — % BE 20% 0 R iERATAY B MR(SR ) S b ?

(A) 8% 60 (B) 8t 300 (C) 88 300 7T (D) & B R BE

10,

hok B 0 P BHEFW ABCDH 34 AC & —25 > €40 AP=2 > CP=8 » 8| BP = ?

(W) V45 (B) 40 ()34 DN - D
B

1. C

P — LR F A2 —Sx—a=0F > a & FHHR—BAEE > Ty 2N —RE
3

(A)15 (B) 16 (C) 20 (D) 25

12.
EJ%UX2+3X_9:O ’ E\IJ (x+7)(x+5)(x_2)(x_4): r?



13.
—EA R RRE AR L BAF Y RA > Blho D 2=1x2 » 3=1x3 » Lhox HEKEY > B
(x=3)" ~10(x=3)-56 % — 18 K # - Ao H # B ?

(M) 17 (B) 19 (C) 67 (D) 79
14,
ot B 0 G HBAABCHYE s » NABGHy+ 2 » B4 A\ABCth @A 30 £A
DEN hwm# 5 % b ? A
15
()3 (B)5  (0)6 ™= - E .
B 5 C

15.

it A= 3+2v2 # B= V5 +2V3 2 K/ 2

(A) A>B (B) A<B (C) A=B (D) &7k b i o
16.

oA B > EHHABCDF » AB=6 » ZUC ~ DAE~ » CDAXBEERINER » £
Gk Sk WoR R e/ A A D

(A)367—93 (B) 9337
(C) 67—18V3 (D) 18/3-67




17.
AR TR L L~ L~ LgHlh—REBy=f(x) ~ y=g(x) ~ y=h(x) 4 B - ©
gLy~ LB RN P(2,3) 0 L, ~ LiARR R O(=6,—4) » L ~ L8N R(4,-2) - 35T 914

AT A 43R 7

(D) /(2)=g(2) (B) g(~6) = h(-6)

(C) S () >g()>n(1) (D) & a<—68% > A h(a)> f(a)> g(a)

18.

Sk B ETAMEAN BRI TR OBELA T D4 IHEBRFHRE =
Fh o RSB S B E A T 52 BB AR FTHBERAEBENY=
wz— WREREHOEREY - T4l F Lk ?

(MH¥EERD (B)#t#L 5% b

O &P (D) & 3R Ao 4 42,48 [

19.

FRFTELF 600 L2 AL wERG BT > AT 40 ARB 30 A et 18 45 -
EEmAb ABEE e e A 3500 T e 30 AR e e s 2000 L At me R
#2i8 48000 /T - 3FR > 40 AR T HER KAETTREMY

(A)3 #& (B)4 72 (C)5 # (D)6 #2



20.

hots B > ABCD By B H > ES5EAB > FE4BC &> GEACD L+ 2CF =3 >

. — . - A D
CG=|»DG=5> BF=2BE » BDE//FG » £ BE = ?
13 17 5
(A) 2 (B)3 (C>? (D)2 -
G
B F C

21.

4ods B Wi ABCD f— {8 & 57 8 AGHEF + % AD=40 « AE=CF=9 » CG=5
‘ A
KAy DA 5D T AP 7 0

(A) 268 (B) 294  (C) 324 (D) 342 - E‘\\\\\\\\\

@

22.

WIHF N E 1000 /T M E 518 120 7uey KA fo 18 50 /ey MER £ 10 /8
BHXEIK A DMEERZARER > BRI HEMEYRR A EHENRERTIER > @
BER®GEE ST » FIMTHTREA K a91E 7

(A)60 (B)80 (C)150 (D)220




23.

F47WiEW ABCD ¥ » AB=4 » AC=15
17 17

SV (B) = (C) 17

24.

WwhHE > R RHB TR S D ?

(A) 76 (B) 80 (C) 88 (D) 96

25.

BB ki IEFRAE RAEHF —15 4
WG IEA A I R A & e R Tk By
oo EB P AZ TR REEMM A NR HF L R LA

50 ¥ AR
(A)90 (B)120 (C)160 (D)200

X /BAC =90° » % BD= 9

(D) 34
61 63 6D oo (B L.
TT 70 8] eeeers eviens 93 -
05 97 G0 ceeier i s 1S %48
SR FATER F
9]
4
24




26.

_ 2b+4b* —20ac

AR5 2 X, ax® +2bx +5c =0 8% » LA KX REAF X > 195 x=-6 - X

Il

N | —

F 42 X 9ax” +6bx+5¢ =0 Y #2547 ?

! 3
(A)x:—6\x:5 (B)x:—18~x:5

) 1
(C)x:~54~x:—2- (D)x:~-2\x:~6—

27.

MR ERBENF RGN THA 80 » 0 ERESHIHEE MM T HTHA
TT o FHREA B EE  RF TS 84 4 - ChikEpyfiiAsmz 42
oo BBERDNERGERABE o MR LSRR T AR E D

(A) 5% (B) 6% ©) 7% (D) 8k

28.
Yot B 0 va %M ABCD $2va &7 CEFG 3 R 8 B % 20 thiEFH » 22 B8 W ABCGH %
FE W WCDHG HLEH 2T - CHEERRMAKLAL 3 KF « 2 H1E

&R by mAgth ? F
(A)3:1 ((B)4:1 (€)5:1 (D) H:3 - A H D
G
& E
HH
B C



29.

dot5 B 0 BN wWiEH ABCD & » 148 BC=13 ~ AB=AD=5 > £CD= 9

W= it
13 13
119 124
O O

E
D
A

30.
Yo 5 B AR 0 ABCDZ B, » PORSZR&FHH » BAAPS @A #4300 ACOR &y

BT £ SD= 9 A S D

m%ﬁ <m%ﬁ P
7 8 R
mgﬁ @ﬁﬁ . \
B Q C T

AL R




